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Seat No. :

KJ-236

December-2012
CC-205 - Statistical Computing
Time : 3 Hours) [Max. Marks : 70

Instruction :  Use of scientific calculator is allowed.

1. (a) Attemptanyone: 6

(1) Ramesh, Naresh & Mahesh in order draw cards from a pack of 52 cards

replacing their cards after each draw. If the first man draws a spade wins,
what are their respective chances of winning ?

(2) From a pack of 52 cards, one card is selected at random. What is the
probability that the card is spade, an honour card or a jack ?

| " (Ace, King and Queen arc called honour card)

(b) Attempt any one: 4

(1) Tata Company has two plants to manufacture Nano cars. Plant - [
manufactures 75% of the cars and Plant — II manufacturers 25%. At Plant -1,
90 out of 100 cars arc of standard quality or better. At Plant - 1, only 75 out
of 100 cars arc rated standard quality or better. Find the probability that the
car selected at random came from Plant - 1 if it is known that the car is of
standard quality ? Also find the probability that the car is of standard quality.

(2) There are 3 red, 3 white and 4 black balls in a bag. 3 balls are taken at random

from it. Find the probability that (i) all are of the same colour (ii) all arc of the
different colours.

(c) Attemptanyone: 4

(1) A sum is given to five students A, B, C, D and E. Their respective chances of

1111 1 ] .
solving it arc RO and 5 - What is the probability that at least one of the

students solves the sum ?

(2) A bag contains 6 red and 4 white balls. Two successive draws of 3 balls are
made without replacement. Find the probability that the first drawing will
give 3 red balls and sccond 3 white balls.
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(b)

(c)
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Attempt any two :
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(1) Find Median and Q, from the following data :

Marks (more than) | 0

10 | 20

30

40 | 50

60 |

70 | 80

No. of students

200

192 | 151

91

69 | 32

16 |

8 | 3

(2) If Mean of a frequency distribution is 74, obtain the missing frequencices. If

total frequency = 100.

—
Marks 0-20 | 20-40 | 40-60 | 60-80 | 80-100}100-120| 120-140 |
No. of students 5 13 (7 15 ) 20 7

(3) Write a note on the importance of Statistics.

Attempt any two :

(1) Find Harmonic mean of following data :
Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

F 12 8 7 10 30 33

(2) After changing origin and scale of the following distribution is obtained.

d, -2

0 1

2

fl 6

12

17 1 10

5

The mean of the distribution is 8.84 and assumed mean is 9. Find original

distribution.

(3) What are the different types of Mean ? Mention merits and demerits of
Arithmetic mean.

Attempt any one :

(1) Find Median of the following data :

GujaratStudy.com

Midvalue | 115 | 125 | 135 | 145 | 155 | 165 | 175 | 185 | 195
Frequency | 6 25 | 48 | 72 | 116 | 60 | 38 | 22 3
2
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(2) Find Mode of the following data :

Class

3-5 | .5-10

10-20

20-50

50-80 | 80-100

I

8

12

40

70

15

3. (a) Atemptany two: 6
(1) Find Range, Quartile Deviation and CoefTicient of Quartile Deviation.
Class | 5-10 | 10-15| 15-20 | 20-25 | 25-30 [30-35| 35-40 | 40-45 | 45-50
F 2 7 10 28 20 18 10 4 1
(2) Runs scored by a cricketer in 10 innings arc given below :
42,17, 83, 59, 72, 76, 64, 45, 40, 32
Calculate coefTicient of variation.
,‘_g)__ (3) Find the Mcan Deviation about the median from the following distribution :
,g,. | Class | 2-6 | 6-10 | 10-14 | 14-18
_E:"{EJ F 6 8 4 2
§ (b) Autcmpt any two : 4

(1) Calculate mean and standard deviation from the following distribution.

Age (year)

20-25

25-30

30-35

35-40

40-45

45-50

No. of persons

170 | 110

80

45

40

35

(2) The arithmetic mean and the standard deviation of a senies of 20 items were
calculated by a student as 20 em and 5 cm respectively. But while calculating
them an item 13 was misrcad as 30. Find correct standard deviation.

(3) What do you mean by measure of dispersion ? Mention it.

(c) Attemplany one:

(1)  Which of the following two distribution is more consistent ?

GroupA| 28 [ 30 | 32 | 34 | 36 | 38 | 40
GroupB| 0 | 10 [-15]| 30 | 48 | 50 | 85
KJ-236 k)

GujaratStudy.com

PthO .

wod Apmgierelnn



wod Apmgierelnn

4. (a)
(b)
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(2) An analysis of monthly wages paid to the workers in two firm A & B
belonging to the same industry. eave the following results :

FirmA | FirmB
No. of wage eamer 586 648
Avg. monthly wages 52.5 47.5
Vanance 100 121

(2) Which firm A or B pays out larger amount a monthly wages ?
(b) Which firm has greater vanability ?
(c) What are the measures of

(i) average monthly wages

(ii) the variability individual wages of all the workers in two firms A
& B taken together ?

Attempt any two :

(1) Find rank correlation cocfTicient for the following data :

N | 60| 72| 42| 40 | 45 | SO | 60 | 51 | 66

Y [ 35|30} 52 |54 48 50|30 35]25

(2) Find Karl Pearson’s coefficient of correlation by taking deviations from
actual means and also find its probable error.

X | 50| 60|75 |84 |47 525944 | 33|46

Y |45 (52|50 65|40 | 65| 50|60 32|51

(3) Write the equation of regression lines ? Why there are two lines of regression ?
Altempt any two :

(1) Find two regression lines from the following data :

Marks in Economics (x) | 25|28 [35]32]31 3629383432

Marks in Statistics (y) 48 |46 |49 | 41| 36|32 |31 ]30(33|39

(2) Obtain regression linc ol Y on X,
n=35, Zx = 30, Ly = 40, Zx? = 220, Lxy =214,
4
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(c)
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(3) For 10 pairs of observations following data is recorded :

Sum of squares of deviations taken from their means for X and Y is 5389 and
2224 respectively. Sum of products of deviations taken from their means =
2704. Calculate correlation coefficient.

Altempt any one : 4

(1) Given the variance of X = 9. The regression equations are

Bx-10y+66=0{ _. ._ _
40x— 18y =214 }.Fmdx.y.randsy.

(2) The following data are given: .

X|Y
Average | 36 | 85
S.D. 11| 8

Correlation coefficient between X & Y = 0.66.
(i) Find two regression equations.

(i1) Estimate value of X when Y =75.

S. Do asdirected : 14

(1

)

)
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Mean usually implics

(a) Arithmetic Mean
(b) Harmonic Mean
(c) Geometnic Mean

Out of all measures of central tendency
not unique.  GujaratStudy.com

is the only measure which is

(a) Mean
(b) Median
(¢) Mode

If the average 0f 7,9, 12,x,5,4and 11 is 9, then x is

(a) 13
(b) 15
(c) 8
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(<)

(3)

(6)

(7)

(8)

)

(10)
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Extreme values have no effect on
(@) Mean

(b) Mcdian

(¢) Mode

What is the S.D. of the following serics :
5.5.5.5.5,5,5,5.5,5

(a) 0O
(b) 10
(€) 5

Which of the following is a unit less measure of dispersion ?
(a) Standard Deviation
(b) Range

(¢) Cocflicient of variation

If the mean deviation of a distribution 1s 3.2, the standard deviation is

(a) 4.0
(b) 8.0
() 3.2

IFX and Y are two variables, there can be at most ¢
(a) onc regression ling
(b) two regression line

(c¢) three regression line

In the regression line Y = a + X, f} is called the
(a) Slopcofihc line
(b) Intercept of the line

{c) both (a)and (b)

The lines of regression in respect of the two correlated variables X and Y intersect

at the point
(a) (0.0
(b (L)
) Y
6
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(11) Ifr(x, y) =0, the variables X and Y arc

(12)

(13)

(14)
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(a) lincarly related
(b) independent

(c) not lincarly related

mn-theorem is also known as
(a) Rule of multiplying

(b) Rule of counting

(c) Rulec of dividing

If A is an uncertain event then
(@) P(A)20

by 0=P(A)=1

() 0<PA)<I

If the outcomes of one event does not influence the outcome of another event then

the two events are
(a) Independent
(b) Mutually exclusive

(c) Exhaustive
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